Quiz 2

ID#: Name:

1. x OFTCHERZARDHH, HE 24 BEDIEMDBH %, (A) DL —EBI A XMz EL D
B ERSCBEF DL LI TER VI L2 T EICHIHE X, (Explain the impossibility of
covering up the room below with 24 mat size usable space (a 25 mat size room with two large
pillars at x) by one mat size futon of shape (A) without overlapping.)

(A)

0

2. (a) 20 kDF v b% A B,C,D,E,F ® 6 NT3b, znZnrdik b —KidsEs L
SE D OA[REYED S % 2>, (How many ways are there to sell 20 tickets by 6 assuming
that each one sells at least one?) [&Z 721} TRV, Solution only! ,C, , P, £ XU n!
DAEIFEIRE L 72 < TX v, (No need to evaluate ,,C,., , P, or n!.) ]

(b) 14 t&DF%7 v +% A B,C,D,E,.F ® 6 NTitd, ~HLREERVAPBTH L wET
&, MED DOREEDSH 202 HEZ b LZNUE, LOGEOHEFRILTHAL I L2 T8
WZHHE & . (The number of ways to sell 14 tickets by 6, allowing that some may sell
no tickets, is equal to the number in the previous problem. Explain why:.)

Message fill GRICHEHF) 1 bt oT—HFwEO4h (k. eI Lzw) o,
Z Lix7% ATYH, What is most precious to you? (THP 8 AT ) IZBHGIDHE, If you wish, write
“Do Not Post.”)



